Conspectus materiae tomi LVII, fasciculi 2

	Pagina
S. D. Adhikari, Ω -results for sums of Fourier coefficients of cusp forms	83-92
M. Jutila, Mean value estimates for exponential sums with applications to L-functions	93-114
M. M. Dodson, B. P. Rynne and J. A. G. Vickers, Khintchine-type theorems on	
manifolds	115-130
K. S. Williams and R. H. Hudson, Representation of primes by the principal form of	
discriminant $-D$ when the classnumber $h(-D)$ is $3 \dots \dots \dots \dots \dots$	131-153
LC. Zhang and J. Gordon, On unit solutions of the equation $xyz = x + y + z$ in	
a number field with unit group of rank 1	155-158
S. Chaladus and Yu. Teterin, Note on a decomposition of integer vectors, II	159-164
A. Schinzel, Reducibility of lacunary polynomials, XI	

La revue est consacrée à la Théorie des Nombres The journal publishes papers on the Theory of Numbers Die Zeitschrift veröffentlicht Arbeiten aus der Zahlentheorie Журнал посвящен теории чисел

L'adresse de la Rédaction Address of the

Die Adresse der

Адрес редакции

lédaction Editorial Board Schriftleitung

ACTA ARITHMETICA

ul. Śniadeckich 8, skr. poczt. 137, 00-950 Warszawa, telex 816112 PANIM PL

Les auteurs sont priés d'envoyer leurs manuscrits en deux exemplaires à l'adresse ci-dessus. The authors are requested to submit papers in two copies to the above address. Die Autoren sind gebeten um Zusendung von 2 Exemplaren jeder Arbeit an die obige Adresse Рукописи статей редакция просит присылать в двух экземплярах по вышеуказанному адресу

© Copyright by Instytut Matematyczny PAN, Warszawa 1991

Published by PWN-Polish Scientific Publishers

ISBN 83-01-10137-7

ISSN 0065-1036

PRINTED IN POLAND

W D O C L A W C V A D D II V A D N I A N A II K O W A

ACTA ARITHMETICA LVII (1991)

Ω-results for sums of Fourier coefficients of cusp forms

b

SUKUMAR DAS ADHIKARI (Madras)

1. Introduction. Let f be a normalized Hecke eigenform of weight k for the full modular group which is a cusp form and let $f(z) = \sum_{n=1}^{\infty} a(n) e^{2\pi i n z}$ be its Fourier expansion at the cusp $i\infty$.

Hardy [5] and Rankin [9] showed

$$a(n) = \Omega(n^{(k-1)/2})$$

and

$$\limsup_{n\to\infty}\frac{|a(n)|}{n^{(k-1)/2}}=+\infty$$

respectively.

R. Balasubramanian and M. Ram Murty [1] proved:

$$a(n) = \Omega(n^{(k-1)/2} \exp(c(\log n)^{1/k-\varepsilon})).$$

Later, for an arbitrary cusp form, which is not necessarily an eigenfunction, Ram Murty [8] proved:

$$a(n) = \Omega\left(n^{(k-1)/2} \exp\left(\frac{c \log n}{\log \log n}\right)\right),\,$$

which is best possible in view of Deligne's result.

In the same paper [8], Ram Murty conjectured that, if $f(z) = \sum_{n=1}^{\infty} a(n) e^{2\pi i n z}$ is an arbitrary cusp form of weight k for the full modular group and $a(n) \in \mathbb{R}$, then

$$\sum_{p \leq x} a(p) p^{-(k-1)/2} = \Omega_{\pm} \left(\frac{x^{1/2} \log \log \log x}{\log x} \right)$$

and proved that for a normalized eigenform $f(z) = \sum_{n=1}^{\infty} a(n) e^{2\pi i n z}$ of weight k for the full modular group, this is true, provided

$$L_f(s) = \prod_{p} \left(1 - \frac{e^{i\theta(p)}}{p^s}\right)^{-1} \left(1 - \frac{e^{-i\theta(p)}}{p^s}\right)^{-1}$$

has no real zero in $1/2 \le s \le 1$.

Here $\theta(p)$ is given by

$$a(p) = 2p^{(k-1)/2}\cos(\theta(p)).$$

From the work of Deligne [2], we know that $\theta(p)$ is real, which gives

$$|a(p)| \leqslant 2p^{(k-1)/2}.$$

We prove:

THEOREM 1. If $F(z) = \sum_{n=1}^{\infty} c(n) e^{2\pi i n z}$ $(c(n) \in \mathbb{R})$ is a cusp form of integral weight k for $\Gamma_0(N)$ (for some integer $N \ge 1$) with real character, F(z) is an eigenfunction of the Hecke operators and it does not vanish on $\{iy \mid 0 < y < \infty\}$, then

$$\sum_{p \le x} c(p) p^{-(k-1)/2} \log p = \Omega_{\pm}(x^{1/2} \log \log \log x).$$

Examples. Recently, Dummit, Kisilevsky and Mckay [4] have characterized the products of η -function whose Fourier coefficients are multiplicative. They are:

$$\prod_{i=1}^{t} \eta(n_i z), \quad \text{with} \quad \sum_{i=1}^{t} n_i = 24,$$

where the corresponding partitions of 24 are given by:

$$(24), \quad (8^3), \quad (23,1), \quad (22,2), \quad (21,3), \quad (20,4), \quad (18,6), \quad (16,8),$$

$$(12^2), \quad (15,5,3,1), \quad (14,7,2,1), \quad (12,6,4,2), \quad (11^2,1^2), \quad (10^2,2^2),$$

$$(9^2,3^2), \quad (8^2,4^2), \quad (6^4), \quad (8^2,4,2,1^2), \quad (7^3,1^3), \quad (6^3,2^3),$$

$$(4^6), \quad (6^2,3^2,2^2,1^2), \quad (5^4,1^4), \quad (4^4,2^4), \quad (3^6,1^6),$$

$$(3^8), \quad (4^4,2^2,1^4), \quad (2^{12}), \quad (2^8,1^8), \quad (1^{24}),$$

where (83) stands for the partition (8, 8, 8) and so on.

If $(n_1, ..., n_i)$ is one of the above partitions, then $\varphi(z) = \prod_{i=1}^t \eta(n_i z)$ is a cusp form of weight k for $\Gamma_0(N)$ with real character, where k = t/2 and $N = (\min n_i)(\max n_i)$.

For weight ≥ 2 , these functions are eigenfunctions of the Hecke operators. Also, since $\eta^{24}(z) = \Delta(z)$ does not vanish on the upper half plane, $\varphi(z)$ does not vanish there.

2. Some lemmas. Let $S_k(N, \chi)$ denote the space of cusp forms of weight k for $\Gamma_0(N)$ with a real character χ . Then the map

$$f \mapsto f \begin{bmatrix} 0 & -1 \\ N & 0 \end{bmatrix}_k := N^{k/2} (Nz)^{-k} f \left(-1/(Nz)\right)$$

is an isomorphism of the vector space $S_k(N, \chi)$.

Defining

$$f^{+} = \frac{1}{2} \left(f + i^{k} f \left| \begin{bmatrix} 0 & -1 \\ N & 0 \end{bmatrix}_{k} \right|, \quad f^{-} = \frac{1}{2} \left(f - i^{k} f \left| \begin{bmatrix} 0 & -1 \\ N & 0 \end{bmatrix}_{k} \right|,$$

we see that $f = f^+ + f^-$, where

$$(2.1) f \begin{vmatrix} 0 & -1 \\ N & 0 \end{vmatrix}_{k} = i^{-k} f^{+}, f \begin{vmatrix} 0 & -1 \\ N & 0 \end{vmatrix}_{k} = -i^{-k} f^{-}.$$

Let $F(z) = \sum_{n=1}^{\infty} c(n) e^{2\pi i n z}$ be as in Theorem 1. Then

$$|c(p)| \leqslant 2p^{(k-1)/2}$$

for primes p not dividing N. (Deligne [2] for $k \ge 2$, Deligne and Serre [3] for k = 1.)

Let

$$F^{+}(z) = \sum_{n=1}^{\infty} c_{1}(n) e^{2\pi i n z}, \quad F^{-}(z) = \sum_{n=1}^{\infty} c_{2}(n) e^{2\pi i n z}$$

be the Fourier expansions of F^+ and F^- respectively.

Let

$$L(s) = \sum_{n=1}^{\infty} \frac{c(n)}{n^s}, \quad L_1(s) = \sum_{n=1}^{\infty} \frac{c_1(n)}{n^s}, \quad L_2(s) = \sum_{n=1}^{\infty} \frac{c_2(n)}{n^s}$$

(Re s > k/2 + 1/2) be the Dirichlet series corresponding to F(z), $F^+(z)$, and $F^-(z)$ respectively.

Using (2.1), by standard methods (see e.g. Koblitz [7], p. 140) one gets functional equations for $L_1(s)$ and $L_2(s)$, and hence the following lemma:

LEMMA 1. If

$$V(s) = (\sqrt{N}/(2\pi))^s \Gamma(s) [L_1(s) + L_2(s)],$$

$$V^*(s) = (\sqrt{N}/(2\pi))^s \Gamma(s) [L_1(s) - L_2(s)],$$

then we have

$$V(s) = V^*(k-s).$$

Also, $(L_1(s)+L_2(s))$ and $(L_1(s)-L_2(s))$ have analytic continuation to the whole complex plane as entire functions.

Now, we write

$$\widetilde{L}(s) = \sum_{n=1}^{\infty} \frac{a(n)}{n^s}, \quad \widetilde{L}_j(s) = \sum_{n=1}^{\infty} \frac{a_j(n)}{n^s},$$

where $a(n) = c(n) n^{-(k-1)/2}$ and $a_i(n) = c_i(n) n^{-(k-1)/2}$, j = 1, 2.

Therefore, writing

$$\begin{split} & \Lambda(s) = \left(\sqrt{N}/(2\pi)\right)^{s+k/2-1/2} \Gamma(s+k/2-1/2) \left[\tilde{L}_1(s) + \tilde{L}_2(s)\right], \\ & \Lambda^*(s) = \left(\sqrt{N}/(2\pi)\right)^{s+k/2-1/2} \Gamma(s+k/2-1/2) \left[\tilde{L}_1(s) - \tilde{L}_2(s)\right], \end{split}$$

we have

$$\Lambda(s) = \Lambda^*(1-s).$$

Now.

$$L(s) = \prod_{p} (1 - c(p) p^{-s} + \chi(p) p^{k-1-2s})^{-1} = \prod_{p} (1 - \beta_{p} p^{-s})^{-1} (1 - \chi(p) \overline{\beta}_{p} p^{-s})^{-1},$$

where $\overline{\beta}_p$ is the complex conjugate of β_p . Therefore, we have

(2.3)
$$\widetilde{L}(s) = L(s+k/2-1/2) = \prod_{p} (1-\gamma_{p}p^{-s})^{-1} (1-\chi(p)\overline{\gamma_{p}}p^{-s})^{-1},$$

where

$$\gamma_p = \beta_p p^{-k/2+1/2}, \quad \gamma_p + \chi(p) \overline{\gamma}_p = a(p), \quad |\gamma_p| = |\overline{\gamma}_p| = 1.$$

From (2.3), we have

(2.4)
$$-\frac{\tilde{L}'}{\tilde{L}}(s) = \sum_{p} \left[(\gamma_{p} p^{-s} \log p + \gamma_{p}^{2} p^{-2s} \log p + \ldots) + (\chi(p) \overline{\gamma}_{p} p^{-s} \log p + \chi^{2}(p) \overline{\gamma}_{p}^{2} p^{-2s} \log p + \ldots) \right]$$

$$= \sum_{p=1}^{\infty} Y(n) n^{-s}.$$

Here.

$$Y(n) = \begin{cases} (\gamma_p^m + \chi^m(p)\overline{\gamma_p^m})\log p & \text{if } n = p^m \ (m > 1), \text{ for some prime } p, \\ 0 & \text{otherwise.} \end{cases}$$

We note that

$$Y(p) = (\gamma_p + \chi(p)\overline{\gamma_p})\log p = a(p)\log p.$$

Now, the following lemma follows by standard methods (see e.g. Ingham [6], pp. 68-70).

LEMMA 2. For T > 0, let N(T) denote the number of zeros of $\tilde{L}(s)$ in the rectangle $0 \le \sigma \le 1$, $0 \le t \le T$. Then, as $T \to \infty$,

$$N(T) = T \log T + (\log(\sqrt{N}/(2\pi)) - 1) T + O(\log T).$$

The following are easy consequences of Lemma 2.

COROLLARY 2.1. If h is a fixed positive number, then

$$N(T+h)-N(T)=O(\log T)$$
.

COROLLARY 2.2. If $\varrho = \beta + \gamma i$, $0 \le \beta \le 1$ are zeros of $\tilde{L}(s)$ in the critical strip, then

$$\sum_{0 \le \gamma \le T} \frac{1}{\gamma} = O(\log^2 T), \qquad \sum_{\gamma > T} \frac{1}{\gamma^2} = O\left(\frac{\log T}{T}\right).$$

DEFINITIONS. We define

$$\Psi_1(x) = \sum_{n \leq x} Y(n)$$

where Y(n) is defined in (2.4) and

$$\Psi_0(x) = (\Psi_1(x+0) + \Psi_1(x-0))/2.$$

Remark 2.1. $\Psi_0(x)$ differs from $\Psi_1(x)$ only when x is a prime-power p^m , the difference then being $\frac{1}{2}(\gamma_p^m + \chi^m(p)\overline{\gamma_p^m})\log p$.

Now, by standard methods (see Ingham [6], Theorems 26-29) one gets the explicit formula

(2.5)
$$\Psi_0(x) = -\sum_{\varrho} \frac{x^{\varrho}}{\varrho} - \frac{\tilde{L}}{\tilde{L}}(0) - 2\log\left(1 - \frac{1}{\sqrt{x}}\right).$$

We have $F(iy) \neq 0$ for all y > 0. Hence, the equation

$$(-2\pi i)^{-s}\Gamma(s)L(s)=\int_{0}^{i\infty}F(z)z^{s-1}dz$$

implies that $L(s) \neq 0$ for s > 0 and hence the following lemma:

LEMMA 3. $\tilde{L}(s)$ has no zeros on the part of the real axis given by s > (-k+1)/2.

LEMMA 4. If θ denotes the upper bound of the real parts of the complex zeros of $\tilde{L}(s)$, then $\Psi_1(x) = \Omega_+(x^{\theta-\delta})$ for any fixed positive number δ .

By Abel's identity,

$$-\frac{\tilde{L}'}{\tilde{L}}(s) = s \int_{1}^{\infty} \frac{\Psi_{1}(x)}{x^{s+1}} dx \qquad (s > 1).$$

Writing

$$c(x) = (\Psi_1(x) - x^{\alpha})/x,$$

for some $0 < \alpha < \theta$,

(2.6)
$$\int_{1}^{\infty} \frac{c(x)}{x^{s}} dx = -\left(\frac{1}{s}\right) \frac{\tilde{L}}{\tilde{L}}(s) - \frac{1}{s - \alpha} \quad (s > 1)$$
$$= f(s), \quad \text{say}.$$

89

If σ_0 is the abscissa of convergence of the Dirichlet integral in (2.6), then $\sigma_0 \ge \theta$. Also, f(s) has no singularities on the stretch $s > \alpha$, since $\tilde{L}(s)$ is regular and has no zeros on the positive real axis by Lemma 3.

Since $\sigma_0 \ge \theta > \alpha$, $s = \sigma_0$ is not a singularity of f(s).

Therefore, by Landau's theorem, we cannot have either $c(x) \ge 0$ or $c(x) \le 0$ for sufficiently large x, which proves the lemma.

Remark 2.2. If $\theta > \frac{1}{2}$, Lemma 4 would imply

$$\Psi_1(x) = \Omega_+(x^{1/2}).$$

If $\theta = 1/2$, writing

$$c(x) = \frac{\Psi_1(x) - cx^{1/2}}{x} \quad \text{and} \quad f(s) = -\left(\frac{1}{s}\right) \frac{\tilde{L}}{\tilde{L}}(s) + \frac{c}{s - 1/2}$$

for some c > 0, we have

(2.8)
$$\int_{1}^{\infty} \frac{c(x)}{x^{s}} dx = f(s) \quad (\sigma > 1).$$

If f(s) has no singularities on the real axis to the right of 1/2, Landau's theorem would imply that the abscissa of convergence of the integral in (2.8) is $\sigma_0 = 1/2$ and hence (2.8) is valid for $\sigma > 1/2$.

If possible, let $c(x) \ge 0$ for all $x \ge X$ (> 1). Then for $\sigma > 1/2$,

$$|f(\sigma+ti)| \le \int_{1}^{x} \frac{|c(x)|}{x^{\sigma}} dx + \int_{x}^{\infty} \frac{c(x)}{x^{\sigma}} dx = \int_{1}^{x} \frac{|c(x)| - c(x)}{x^{\sigma}} dx + f(\sigma)$$
$$\le 2 \int_{1}^{x} \frac{|c(x)|}{x^{1/2}} dx + f(\sigma) = K + f(\sigma)$$

where K is independent of σ and t.

If $1/2 + \gamma_1 i$ is the zero with least positive γ , let $t = \gamma_1$ and then multiplying both sides by $\sigma - 1/2$ and making $\sigma \to 1/2 + 0$, we get from above

$$\frac{m_1}{|1/2+\gamma_1 i|} \leqslant c,$$

where m_1 is the order of multiplicity of the zero $1/2 + \gamma_1 i$. But we culd have chosen $0 < c < m_1/|1/2 + \gamma_1 i|$ and that shows that the supposition $c(x) \ge 0$ for $x \ge X$ leads to a contradiction.

So c(x) < 0 for arbitrary large x. Similarly one can show that c(x) > 0 for arbitrary large x, i.e., (2.7) holds in the case $\theta = 1/2$, as well.

3. Proof of Theorem 1. We multiply the explicit formula (2.5) by $x^{-3/2}$, make the change of variable $x = e^{u}$ and integrate the resulting expression in u from $w - \eta$ to $w + \eta$ (where w, η are parameters to be chosen). This gives

$$(3.1) \int_{u=0}^{w+\eta} e^{-u/2} \left(\Psi_0(e^u) + \frac{\tilde{L}}{\tilde{L}}(0) + 2\log(1 - e^{-u/2}) \right) du = -\sum_{\alpha} \int_{w-\eta}^{w+\eta} \frac{e^{u(\alpha-1/2)}}{\varrho} du.$$

We put

$$G(u) = e^{-u/2} \left(\Psi_0(e^u) + \frac{\tilde{L}'}{\tilde{L}}(0) + 2\log(1 - e^{-u/2}) \right).$$

Clearly,

$$G(u) = \Omega_{+}(\log \log u) \Leftrightarrow \Psi_{0}(x) = \Omega_{+}(x^{1/2} \log \log \log x).$$

If the Riemann hypothesis is false for \tilde{L} , i.e., $\theta > 1/2$, then from Lemma 4 (see Remark 2.1) a result stronger than

(3.2)
$$\Psi_0(x) = \Omega_+(x^{1/2} \log \log \log x)$$

is true.

So, we can assume the Riemann hypothesis. Putting $\varrho = 1/2 + i\gamma$ in the formula (3.1) and integrating

$$\frac{1}{2\eta}\int_{u-u}^{w+\eta}G(u)\,du=-\sum_{n}\frac{\sin\gamma\eta}{\gamma\eta}\frac{e^{i\gamma w}}{\varrho}.$$

Let $1/2 + \gamma_1 i$ be the first zero of $\tilde{L}(s)$ on the line 1/2 and let $T > \max\{e^2, \gamma_1\}$. Then

$$\sum_{\varrho} \frac{\sin \gamma \eta}{\gamma \eta} \frac{e^{i\gamma w}}{\varrho} = \sum_{|\gamma| \leq T} \frac{\sin \gamma \eta}{\gamma \eta} \frac{e^{i\gamma w}}{\varrho} + \sum_{|\gamma| \geq T} \frac{\sin \gamma \eta}{\gamma \eta} \frac{e^{i\gamma w}}{\varrho}.$$

Now.

$$\begin{split} \sum_{|\gamma| \leq T} \frac{\sin \gamma \eta}{\gamma \eta} \frac{e^{i\gamma w}}{\varrho} &= \sum_{|\gamma| \leq T} \frac{\sin \gamma \eta}{\gamma \eta} \frac{e^{i\gamma w}}{i\gamma} + O\left(\sum_{|\gamma| \leq T} \gamma^{-2}\right) \\ &= \sum_{|\gamma| \leq T} \frac{\sin \gamma \eta}{\gamma \eta} \frac{\cos \gamma w}{i\gamma} + \sum_{|\gamma| \leq T} \frac{\sin \gamma \eta}{\gamma \eta} \frac{\sin \gamma w}{\gamma} + O\left(\sum_{|\gamma| \leq T} \gamma^{-2}\right) \\ &= \sum_{|\gamma| \leq T} \frac{\sin \gamma \eta}{\gamma \eta} \frac{\sin \gamma w}{\gamma} + O(1). \end{split}$$

On the other hand, by Corollary 2.1

$$\sum_{|\gamma| \geqslant T} \frac{\sin \gamma \eta}{\gamma \eta} \frac{e^{i\gamma w}}{\varrho} = O\left(\sum_{|\gamma| \geqslant T} (\eta \gamma^2)^{-1}\right) = O\left(\frac{\log T}{\eta T}\right).$$

Therefore,

(3.3)
$$\frac{1}{2\eta} \int_{w-\eta}^{w+\eta} G(u) du = -2S(w) + O(1) + O\left(\frac{\log T}{\eta T}\right),$$

where

$$S(w) = \sum_{0 < \gamma \leqslant T} \frac{\sin \gamma \eta}{\gamma \eta} \frac{\sin \gamma w}{\gamma}.$$

Q-results for sums of Fourier coefficients

Now, we utilize the theorem of Dirichlet (see Titchmarsh's *Theory of Functions*): Given $\theta_1, \ldots, \theta_N$, N real numbers, q > 1, $\tau > 0$, the interval $[\tau, \tau q^N]$ contains a $U \in \mathbb{Z}$ such that $||U\theta_i|| < 1/q$, $1 \le i \le N$.

Now, applying this to $\theta_j = \gamma_j/(2\pi)$, $1 \le j \le N(T)$, for $\tau = q^{N(T)}$ (q will be chosen later) we obtain:

There is $U \in \mathbb{Z}$, $q^{N(T)} \leq U \leq q^{2N(T)}$, such that

$$||U\gamma_{j}/2\pi|| < 1/q.$$

Therefore, for all real v,

$$|\pm S(U\pm v)-S(v)| \leq \frac{2\pi}{q} \sum_{\gamma<\tau} \frac{1}{\gamma}$$

by the mean value theorem and (3.4).

Therefore, by Corollary 2.2

$$|\pm S(U\pm v)-S(v)|=O\left(\frac{\log^2 T}{q}\right).$$

Let $0 < \eta < 1/2$. Setting, $w = U \pm 2\eta$, $w = 2\eta$ in (3.3) and subtracting the corresponding expressions, we have by the above results

$$\frac{1}{2\eta} \int_{-\eta}^{\eta} \left[\pm G(U \pm 2\eta + y) - G(2\eta + y) \right] dy = O\left(\frac{\log^2 T}{q}\right) + O(1) + O\left(\frac{\log T}{\eta T}\right).$$

Choosing $q = \log^2 T$, $\eta = (\log T)/T$ gives

(3.5)
$$\frac{1}{2\eta} \int_{-\eta}^{\eta} \left[\pm G(U \pm 2\eta + y) - G(2\eta + y) \right] dy = O(1).$$

Since $y \in [-\eta, \eta]$, we have $2\eta + y = (2 + \theta)\eta$ where $|\theta| \le 1$. As $\eta \to 0$,

$$G(2\eta + y) = 2\log(1 - e^{-\eta - y/2}) + O(1) = 2\log(\eta + y/2) + O(1) = 2\log\eta + O(1).$$

Therefore,

$$\frac{1}{2\eta}\int_{-\eta}^{\eta}G(2\eta+y)\,dy\leqslant 2\log\eta+O(1).$$

Hence, from (3.5),

$$\frac{1}{2\eta}\int_{-\eta}^{\eta} \pm G(U\pm 2\eta + y)\,dy \leqslant 2\log \eta + O(1).$$

Now,

$$\frac{1}{2\eta} \int_{-\pi}^{\eta} G(U+2\eta+y) \, dy \leqslant 2\log \eta + O(1)$$

implies that there exists $u \in [U+\eta, U+3\eta]$, such that $G(u) \le 2\log \eta + O(1)$.

Again $-\log \eta \sim \log T$ and $\log \log u = \log \log U + O(1)$. But (by Lemma 2) $\log \log U = \log N(T) + O(\log \log q) = \log T + O(\log \log q) + O(\log \log T)$.

Hence,

$$\liminf_{u\to\infty}\frac{G(u)}{\log\log u}\leqslant -2,$$

that is, $G(u) = \Omega_{-}(\log \log u)$.

A similar analysis with -G(u) yields

$$\limsup_{u\to\infty}\frac{G(u)}{\log\log u}\geqslant 2.$$

Hence (3.2) is true.

By Remark 2.1,

$$\Psi_1(x) = \Omega_{\pm}(x^{1/2} \log \log \log x).$$

Since

$$\Psi_1(x) = \sum_{p \le x} Y(p) + \sum_{p^2 \le x} Y(p^2) + \dots + \sum_{p^m \le x} Y(p^m), \quad \text{where } m = \left[\frac{\log x}{\log 2}\right],$$

$$\sum_{p^2 \le x} Y(p^2) \le 2 \sum_{p \le \sqrt{x}} \log p = O(\sqrt{x})$$

and

$$\sum_{p^{3} \leq x} Y(p^{3}) + \ldots + \sum_{p^{m} \leq x} Y(p^{m}) \leq \left[\frac{\log x}{\log 2} \right] \left(2 \sum_{p \leq x^{1/3}} \log p \right) = O(x^{1/3} \log x)$$

with m as above, we get

$$\sum_{p \leqslant x} Y(p) \leqslant \sum_{p \leqslant x} a(p) \log p = \Omega_{\pm}(x^{1/2} \log \log \log x)$$

which proves Theorem 1.

Acknowledgements. I would like to thank Dr. M. Ram Murty for suggesting a line of investigation which is partly done in the present paper; I would further like to thank him for many valuable discussions and specially for suggestions regarding the proof of Theorem 1. I would also like to thank Dr. R. Balasubramanian for many helpful discussions.

References

- R. Balasubramanian and M. Ram Murty, An Ω-theorem for Ramanujan's τ-function, Invent. Math. 68 (1982), 241-252.
- [2] P. Deligne, La conjecture de Weil, I, Publ. Math. I.H.E.S. 43 (1974), 273-307.

- [3] P. Deligne and J. P. Serre, Formes modulaires de poids 1, Ann. Sci. École Norm. Sup. 7 (1974), 507-530.
- [4] D. Dummit, H. Kisilevsky and J. Mckay, Multiplicative product of η-functions, in Finite Groups — Coming of Age, Montreal, Qué., 1982, 89-98; Contemp. Math. 45 (1985).
- [5] G. H. Hardy, Ramanujan, Chelsea, New York 1940.
- [6] A. Ingham, The Distribution of Prime Numbers, Cambridge University Press, 1932.
- [7] N. Koblitz, Introduction to Elliptic Curves and Modular Forms, Springer-Verlag, 1984.
- [8] M. Ram Murty, Oscillations of Fourier coefficients of modular forms, Math. Ann. 262 (1983), 241-252.
- [9] R. A. Rankin, An Ω-result for the coefficient of cusp forms, ibid. 203 (1973), 239-250.

THE INSTITUTE OF MATHEMATICAL SCIENCES Madras-600113, India

Present Adress: SCHOOL OF MATHEMATICS TATA INSTITUTE OF FUNDAMENTAL RESEARCH Homi Bhabha Road Bombay-400005, India

> Received on 5.5.1987 and in revised form on 30.8.1989 (1721)

ACTA ARITHMETICA LVII (1991)

Mean value estimates for exponential sums with applications to L-functions

by

MATTI JUTILA (Turku)

1. Introduction

1.1. In our previous paper [J3], we studied the mean square of the exponential sum

$$S(M, M'; v, y) = \sum_{M}^{M'} d(m) g(m, v, y) e(f(m, v, y))$$

with respect to v running over an interval [0, V] and y running over a well-spaced system of real numbers. Here d(m) is the usual divisor function, $e(\alpha) = e^{2\pi i\alpha}$, and the functions f and g are supposed to satisfy certain conditions. The main result, a general mean value theorem, was applied to the fourth moment of $\zeta(1/2+it)$ over a system of short intervals. In this way, we reproved a theorem of H. Iwaniec [Iw], which was in fact our principal motivation.

Our object in this paper is to generalize Iwaniec's theorem to L-functions. To this end, we need a mean value estimate for exponential sums

(1.1)
$$S_{\chi}(M, M'; v, y) = \sum_{M}^{M'} \chi(m) d(m) g(m, v, y) e(f(m, v, y))$$

involving Dirichlet characters. If χ is a primitive character (mod D), then the sum S_{χ} can be written in terms of the Gaussian sum

$$\tau_{\chi} = \sum_{a=1}^{D} \chi(a) e(a/D)$$

and the exponential sum

(1.2)
$$S(M, M'; v, y, \alpha) = \sum_{M}^{M'} d(m) g(m, v, y) e(f(m, v, y) + m\alpha)$$

as follows:

$$S_{\chi} = (\tau_{\bar{\chi}})^{-1} \sum_{a=1}^{D} \bar{\chi}(a) S(M, M'; v, y, a/D).$$